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Line up Dominoes: 

Each Domino is made up of 2 parts, answer on left side and expression on right side.  

1.  Simplify each expression on a separate sheet of paper. (found on the left side of each domino) 
2. Cut out all 15 Dominoes.  
3. Start with the “Begin” Domino and connect the expression on the right side with the answer domino.  
4. Each expression should match an answer on the right side of another domino.  
5. In a line, tape together all 15 Dominoes with the “End” being last. 

Example: 
  

	

[image: D:\Users\pmgerheart\Desktop\Untitled.jpg]Begin                             
	


                        
[image: ]
	

[image: ]          End! 



oleObject2.bin

image4.wmf
8

3

x

x

=


oleObject3.bin

image5.png




image6.wmf
4

2

4

x

y


oleObject4.bin

image7.wmf
13

5

14

21

xy

x

--

-

=


oleObject5.bin

image8.wmf
35

1

xy


oleObject6.bin

image9.wmf
32

12

3

x

xy

-

=


oleObject7.bin

image10.wmf
4

4

y

x


oleObject8.bin

image11.wmf
31

47

26

35

xx

yy

-

-

æöæö

=

ç÷ç÷

èøèø


oleObject9.bin

image12.wmf
11

x


oleObject10.bin

image13.wmf
23

(3)

x

=


oleObject11.bin

image14.wmf
2

3

4

5

x

y


oleObject12.bin

image15.wmf
2

4

(3)

xy

z

-

-

=


oleObject13.bin

image16.wmf
6

27

x


oleObject14.bin

image17.wmf
24

(4)(2)

xyxy

=


oleObject15.bin

image18.wmf
96

10

3

xy


oleObject16.bin

image19.wmf
0

67

38

80

5

xy

xy

-

æö

=

ç÷

èø


oleObject17.bin

image20.wmf
32

4

1

5

yz

x


oleObject18.bin

image21.wmf
2

2

2

x

y

-

æö

=

ç÷

èø


oleObject19.bin

image22.wmf
4

22

9

z

xy

æö

ç÷

èø


oleObject20.bin

image23.wmf
4

29

(4)(5)

(3)(2)

xy

xyx

-

=


oleObject21.bin

image24.wmf
35

12

xy


oleObject22.bin

image25.wmf
23

52

xy

xy

-

=


oleObject23.bin

image26.wmf
5

x


oleObject24.bin

image27.wmf
2352

(3)(4)()

xyxy

-

=


oleObject25.bin

image28.wmf
4

3

2

3

x

y


oleObject26.bin

image1.jpeg




image29.wmf
2

52

4

20

xyz

xy

-

=


oleObject27.bin

image30.wmf
47

xx

+=


oleObject28.bin

image31.wmf
11

x


oleObject29.bin

image32.wmf
2

4

2

x

x

=


oleObject30.bin

image33.wmf
2

x


oleObject31.bin

image2.wmf
47

xx

=

g


oleObject1.bin

image3.wmf
53

8

xy


